Club Up and Down

y Oscilliating equipment

Oscillating plate ~ Plateau oscillant  Oscillerende plaat






CLUB UP AND DOWN (&)

User’s Manual

Dear Customer,

We would like to thank you for the confidence you have shown towards LANAFORM and our CLUB UP AND DOWN. Please
read this manual carefully before using the unit, in particular the safety advice, to ensure that you use the unit correctly.
Please keep this manual in a safe place, in case you need to refer to it in the future.

GENERAL SAFETY ADVICE

« Keep all packaging material out of the reach of children. Plastic bags may cause suffocation.

- Make sure that the unit is kept in good condition, and, before first using it, check that it is not damaged in any way. If
this is the case, do not use it. Take the unit back to your reseller.

« This unit is not for use in a commercial environment.

« The reseller is not responsible for any damage caused by inappropriate use, nor for any intentional damage.
« Never disconnect the unit by pulling on the cable.

- This massage equipment is NOT suitable for use by children.

« Do not jump on the platform, as this may damage the unit.

- f there is any visible damage, do not use the unit. Disconnect it and contact a technician. The unit may be liable to
cause electrocution.

« Never try to repair the unit yourself. Contact the reseller or Customer Service.

« Switch off and disconnect the unit after each use.

« Switch off and disconnect the unit before cleaning it.

- fyou use the unit on a carpeted floor, check that the air vents are not obstructed.

« Do not use the unit on a vinyl-covered surface.

« Itis recommended that you perform some warm-up exercises before using the unit.

« The speed and length of exercises should be increased progressively.

« The unit must only be used by one person at a time.

- Women who are pregnant or are fitted with an IUD (Intra Uterine Device) must NOT use the unit.

« If you feel unwell, or if you feel dizzy, stop using the unit immediately. Consult your doctor without delay if you feel
ill, if you have any pain in your joints or elsewhere, if your heart rate increases abnormally or if you have any other
abnormal symptoms.

« If you have not done any sport for a long time or if you have a heart, circulatory or orthopaedic condition, check with
your doctor before using the unit.

« Keep the unit in a dry place, away from any source of water, and check that the electrical components are not damp.

- (lean the unit using a damp cloth and non-chemical detergent.

« This unit must not be used by children, nor by persons with reduced physical, sensorial or mental capacities, or by
persons lacking experience or knowledge unless they have been provided, by a person in charge of safety, with
supervision or prior instructions concerning the use of the unit.

+ Do not allow children to play with the unit.

« If the electrical power cable is damaged, it must be replaced by the manufacturer, its technical service or any suitably
qualified person, to avoid any risk.




WARNING!
_@ - Itis dangerous to dismantle the unit yourself.

- Itis dangerous to put your hand in the gap below the platform.
« To avoid either damaging the unit or making it noisy, do not move your centre of gravity to the edge of the platform.

RESTRICTIONS ON USE

1) Do not use the unit if you suffer from mental illness.

2) Do not use the unit if you are ill.

3) Children must not use the unit.

4) Women must not use the unit if they are pregnant or menstruating.

OPERATING PRINCIPLES

The technology used in the CLUB UP AND DOWN is based upon innovative technology: it reproduces an oscillating
movement. The base plate moves in two dimensions: Up-Down. This works out the muscles exactly as if they were in
action during physical or muscle-building activity, but much more effectively. In fact, the energy is expended in depth
and not just at the surface. Save time and increase results during a traditional exercise session, in a much shorter time
than with traditional activities, while avoiding any risk of injury to your body.

The different mode settings and variable intensity drive the motor according to a pre-determined protocol selected to
satisfy the objectives of everybody (massage, physiotherapy, fitness training, fat burn-off, drainage, muscular tone, etc.).

EFFECTS ON THE ORGANISM
« Slimming and lipolysis effects
« Muscular micro-contractions promote heat production by your organism. You can thus use up calories and burn of fat.

- Stimulation by oscillation activates the blood circulation and increases oxygen exchange at muscular tissue level. It
improves the elimination of toxins.

« Micro-contractions also create a taughtening effect on the superficial layers of the epidermis that improves skin quality.
« Improvement of blood circulation.

DESCRIPTION OF THE UNIT

1) Main control panel

2) Support bar a5

3) Heart rate sensor e

4) Safety and emergency stop key M

5) Upper column M

6) Secondary control panel —®

7) Lower column

8) Platform ®
T ®

9) Base
10) Hook attachment point

(D —
O—

4 LANAFORM*®



The safety and emergency stop key: This key allows the unit to operate. In the event that an emergency shutdown
of the unit is required, you can remove the key by pulling the cord. You may also remove this key and leave it in a secure
place, so that children do not play with the unit.

ACCESSORIES
() eema1 £ @2mex12
®6 M8.2 ®6M8x35 (5 @1

) @4Mé é§ @5 M6%20

ASSEMBLY INSTRUCTIONS

When unpacking your CLUB UP AND DOWN, check that none of the parts is missing. Also check that the unit has not
been damaged in transport.

1) Take the lower column and place it near to the base, connect the electrical plug to the base. Insert the end of the
column into the base of the unit so that the screw holes are correctly aligned.

2) Once the components are assembled, tip the unit on its side and use six M8x35 bolts to assemble the base to the
column. For each bolt use one M8.1 washer and one M8.2 locknut.

3) Align the upper column with the lower column. Place the two items face to face and connect the two electrical lugs.
Push the two columns together and secure in position using an M6x20 bolt.

4) Take the two components of the support bar and connect the electrical cables as shown in the diagram. Use two
M6x20 bolts to assemble the lower part of the support bar to the column. With each bolt use an M6 washer.

5) Repeat this step for the opposite side, taking care to plug together correctly the two upper parts of the support bar.
6) Assemble the two upper parts of the support bar. Use M6 x 12 bolts.
7) Place and clip into position the trim above the junction between the two components of the support bar.

Your unit is ready for use.

@_




CONTROLS
_@ Main control panel

1) Digital display

2) Time adjusting button

3) Button to increase intensity of oscillatory movement
4) On/0ff button

5) Start button for “Cardiac rate” feature

6) Mode selection button

7) Button to decrease intensity of oscillatory movement

Secondary control panel

8) Digital display

9) Button to increase intensity of oscillatory movement
10) On/Off button

11) Button to decrease intensity of oscillatory movement

OPERATING INSTRUCTIONS

1) Connect the unit and switch it on using the switch at the back of the base. The unit is now in standby mode. Press
the On/Off button. The unit will start to operate. If you press the button a second time, the unit will return to the
standby mode.

2) Please read the “Controls” chapter for full details of the various functions available.
3) If you want to use the unit in the “upright” position, stand on the unit before switching it on.

4) If you prefer another position, it is better to ask another person to help you operate the controls, or to start “upright”
and then change position.

5) For both your health and your safety, do not use the unit for more than 20 minutes per séance to avoid stressing your
body.

DISPLAYS

1) Heart rate display

2) Operating time display

3) Manual mode display

4) Mode 1 display

5) Mode 2 display

6) Mode 3 display

7) Safety key warning symbol

8) Intensity level on a scale of 1to 16

6 LANAFORM®



MODES
Manual mode @_
In this mode, you can adjust the intensity of the oscillatory movement yourself. There are 16 intensity levels.

M1 Mode 1

The speed increases progressively (step by step) starting at level 1 and finishing at level 16. It then
decreases progressively from level 1 to level 16.

M2 Mode 2
The speed increases two levels at a time (1, 3,5, 7 .....15) and then decreases by two levels at a time
(15,13, 11.....7).

P3 Programme 3
The speed changes from intensity level 2 to 16 and then from 16 to 2 at intervals of 5 seconds.

TECHNICAL DATA

« CLUB UP AND DOWN Model

+ Reference: 57690

« Power supply: 230V — 50Hz

« Maximum permitted load: 200kg

MAINTENANCE

Take care to switch off the unit before performing daily maintenance.

Never use formaldehyde or any other organic cleaner to clean the unit.

Use a soft, dry cloth rather than a damp cloth to clean the electrical switch and the base surround.
The unit may be damaged if any cleaning product seeps inside.

If the power supply cable is damaged, it must be replaced by a special cable or a complete electrical assembly available
from the manufacturer or Customer Service.

LANAFORM® guarantees that this product is free of all manufacturing and material defects for a period of two years from
the date of purchase, except under the following circumstances: the guarantee for this LANAFORM® product does not
cover damage resulting from incorrect or improper use, accidental damage, the addition of an unapproved accessory, any
modification to the product or any other situation outside the control of LANAFORM®.

LANAFORM® is not liable for any consequential or special damage.

All implicit guarantees covering product suitability are limited to a period of two years from the date of initial purchase.

On reception, LANAFORM® will, as it deems fit, repair or replace your product. In the event that this unit is repaired by
any person other than the LANAFORM® Service Centre, the guarantee is null and void.




CLUB UP AND DOWN

Manuel d’utilisation.

— Cher client,

Nous vous remercions de votre confiance envers LANAFORM et notre Club Up and Down. Veuillez lire ce manuel
attentivement avant usage, en particulier les consignes de sécurité, de facon a utiliser I'appareil correctement. Veuillez
également conserver ce manuel, pour le relire au besoin.

CONSIGNES GENERALES DE SECURITE
- Conservez I'emballage hors de portée des enfants. Les sacs en plastiques comportent un risque d'étouffement.

« Assurez-vous que I'appareil reste en bon état et, avant de I'utiliser pour la premiére fois, vérifiez quil n'est pas
endommaggé. Sl I'est, ne I'utilisez pas. Reportez-le chez votre revendeur.

- Cet appareil ne peut étre utilisé dans un contexte commercial.

- Le revendeur n'est pas responsable des dommages occasionnés par un traitement inapproprié, ni des dommages
intentionnels.

« Ne débranchez jamais 'appareil en tirant sur le cable.
- Cet appareil de massage ne convient PAS aux enfants.
« Ne sautez pas sur la plate-forme, cela peut endommager I'appareil.

« En cas de dommage visible, n'utilisez plus I'appareil. Débranchez-le et prenez contact avec un technicien. Lappareil
pourrait comporter un risque d'électrocution

« N'essayez jamais de réparer les dommages vous-méme. Consultez votre revendeur ou le service clientele.
« Aprés chaque usage, éteignez I'appareil et débranchez-le.

- Eteignez I'appareil et débranchez-le avant de le nettoyer.

- Si vous utilisez 'appareil sur un tapis, veillez a ce que les orifices d'aération ne soient pas masqués.

- N'utilisez pas I'appareil sur un revétement de type vinyle.

« Il est recommandé de faire quelques exercices d‘échauffement avant d'utiliser I'appareil.

« Augmentez la vitesse et la longueur des exercices progressivement.

- Lappareil ne peut étre utilisé que par une seule personne a la fois.

- Les femmes enceintes ou portant un stérilet ne peuvent PAS utiliser I'appareil.

« Si vous vous sentez mal, si vous avez des vertiges, arrétez immédiatement d'utiliser I'appareil. Consultez votre médecin
sans tarder si vous vous sentez malade, si vous ressentez des douleurs aux articulations ou ailleurs, si votre pouls
accélere de fagon anormale ou si vous présentez tout autre symptome anormal.

« Si vous n‘avez plus pratiqué de sport depuis longtemps ou si vous avez un probléme cardiaque, circulatoire ou
orthopédique, consultez votre médecin avant d'utiliser I'appareil.

- Conservez 'appareil au sec, a I'abri de I'eau et veillez a ce que les éléments électriques ne soient pas humides.
- Nettoyez 'appareil avec un chiffon humide et un détergent non chimique.

- Cet appareil ne peut étre utilisé par des enfants, ni des personnes présentant un handicap physique, neurologique
ou mental, des personnes qui manquent d'expérience ou de connaissances en la matiére, a moins qu'elles utilisent
I'appareil sous la surveillance et les instructions d’une autre personne responsable de leur sécurité.

- Veillez a ce que les enfants ne jouent pas avec I'appareil.

« Sile cable électrique est endommagé, il doit étre remplacé par le fabricant, son service technique ou toute autre
personne qualifiée, de facon a éviter tout risque.

8 LANAFORM*®



ATTENTION !
« Il est dangereux de démonter I'appareil vous-méme.
« Il est dangereux de mettre la main dans l'interstice de la plate-forme.

« Ne déplacez pas votre centre de gravité sur un coté de la plate-forme, pour ne pas endommager I'appareil et le rendre
bruyant.

INTERDICTIONS

1) Si vous souffrez d'un traumatisme psychique, n’utilisez pas I'appareil.

2) Si vous étes malade, n'utilisez pas 'appareil.

3) Les enfants ne peuvent pas utiliser appareil.

4) Les femmes enceintes et en période de menstruations ne peuvent pas utiliser 'appareil.

PRINCIPE ET FONCTIONNEMENT :

La technologie utilisée dans le CLUB UP AND DOWN, réside dans une nouvelle forme d'innovation : elle reproduit un
mouvement oscillant. Le plateau travaille en 2 dimensions : Montée-Descente Les muscles sont sollicités exactement
comme s'ils étaient mis en action lors d’une activité physique ou de musculation mais avec une efficacité beaucoup plus
importante. En effet, le travail se fait en profondeur et pas seulement en surface ...

Gagnez du temps et augmentez les résultats obtenus lors d’'une séance d'exercices traditionnels en préservant votre corps
de tout risque de blessure en beaucoup moins de temps que lors d’une activité traditionnelle et sans aucun risque de
blessure Les différents modes et l'intensité variable vont entrainer le moteur selon un protocole établi afin de répondre
aux objectifs de chacun (massage, rééducation, remise en forme, briilage des graisses, drainage, tonification musculaire,
etc...)

LES EFFETS SUR L'ORGANISME
« Amincissement et effet lipolyse

+ Les Micro contractions musculaires favorisent la production de chaleur de votre organisme. Vous dépenserez donc des
calories, et brilerez ainsi les graisses

- La stimulation par oscillation, active la circulation sanguine et augmente I'échange en oxygene aux niveaux des tissus
musculaires. Elle contribue a une meilleure élimination des toxines.

- Les Micro contractions provoquent également l'effet « tenseur » sur les couches superficielles de Iépiderme permettant
d'augmenter la qualité de la peau.

- Amélioration de la circulation sanguine

0

L “Ee——(3)

DESCRIPTIF DE LAPPAREIL | ©

1) Panneau de commandes principal X @

2) Volant —0

3) Capteur de pulsations cardiaques

4) (lef de sécurité et d'arrét d'urgence

5) Colonne supérieure 2
P : T ©®

6) Panneau de commande secondaire

7) Colonne inférieure ® °

8) Plate-forme ©) =

9) Base ®©——

10) Emplacement des crochets

222222222




La clef de sécurité et d'arrét d’urgence : Cette clef permet a votre appareil de fonctionner. En cas d'urgence
nécessitant un arrét complet de la machine, vous pouvez dter la clef en tirant sur la cordelette. Vous pouvez également
Oter et conserver cette clef dans un endroit siir, afin d'éviter que des enfants ne jouent avec I'appareil.

ACCESSOIRES

() eem81 4§ @2mex12

®6118.2 ®6M8x35 (g} @ f

() ®@4M6 (§ ® 5 M6x20

INSTRUCTIONS DE MONTAGE
Lors du déballage de votre Club up and down, vérifiez que 'ensemble des piéces soit bien présent. Vérifiez également que
I'appareil n'a subit aucun dommage suite au transport.

1) Saisissez la colonne inférieure et placez la proximité du socle et connectez la fiche électrique a celui-ci. Insérez
I'extrémité de la colonne dans la base de I'appareil jusqu‘a ce que les trous de vis soient correctement alignés.

2) Une fois les pieces en place, inclinez 'appareil sur le c6té et utilisez 6 vis M8x35 pour assembler le socle et la colonne.
Pour chaque vis ajoutez 1 rondelle M8.1 et un contre écrou M8.2

3) Assemblez la colonne supérieure avec la colonne inférieure. Placez les piéces I'une en face de I'autre afin de connecter
les deux fiches électriques. Emboitez ensuite les 2 montants et utilisez une vis M6x20.

4) Prenez les pieces composant le volant et raccordez les cables électriques, comme indiqué sur schéma. Utilisez 2 vis
M6x20 pour assembler la partie inférieure du volant a la colonne. Pour chaque vis ajoutez une rondelle M6.

5) Faites de méme pour le cdté opposé, en prenant soin d'emboiter correctement les deux parties supérieures du volant
6) Assemblez les deux parties supérieures du volant, Utilisez la vis M6x12.
7) Placez et emboitez la garniture par-dessus la jonction des deux piéces du volant

Votre appareil est prét a fonctionner.

() LANAFORM®



COMMANDES

Panneau de commande principal

1) Ecran digital

2) Bouton de réglage du temps

3) Bouton augmentant l'intensité des mouvements oscillants

4) Bouton marche/arrét

5) Bouton de mise en marche de la fonction « Fréquence cardiaque »
6) Bouton de sélection des modes

7) Bouton diminuant l'intensité des mouvements oscillants

Panneau de contréle secondaire .
8) Ecran digital

9) Bouton augmentant l'intensité des mouvements oscillants ® 0 =
10) Bouton marche/arrét
11) Bouton de diminution de I'intensité des mouvements oscillants @

MODE D’EMPLOI

1) Branchez I'appareil et actionnez l'interrupteur qui se trouve a l'arriére du socle. Lappareil est maintenant en veille.
Appuyez sur le bouton Marche/Arrét. L'appareil commence a fonctionner. Si vous appuyez une seconde fois, il se remet
en veille.

2) Veuillez vous reporter au chapitre « Commandes » pour utiliser les différentes fonctions.
3) Si vous désirez utiliser I'appareil en mode «debout», placez-vous dessus avant de le mettre en marche.

4) Sivous préférez une autre posture, il est préférable de demander a une autre personne de vous aider a utiliser les
commandes ou de commencer debout, puis de changer de posture.

5) Pour votre santé et votre sécurité, n'utilisez pas I'appareil plus de 20 minutes par séance afin de ne pas trop solliciter
votre corps.

ECRANS

1) Affichage des pulsations cardiaques

2) Affichages du temps de travail

3) Affichage du mode manuel

4) Affichage du mode 1

5) Affichage du mode 2

6) Affichage du mode 3

7) Témoin d'indication de la clef de sécurité

8) Affichage du niveau d'intensité allant de 1a 16

1



MODES
Mode manuel

Dans ce mode, vous pouvez régler vous-méme le niveau d'intensité des mouvements oscillants. Vous avez a votre
disposition 16 niveaux d'intensité.

M1 Mode 1

La vitesse augmente de facon progressive ( palier par palier) en commencant au niveau 1 pour terminer au
niveau 16. Puis diminue de maniére dégressive du niveau 16 au niveau 1.

M2 Mode 2

La vitesse augmente par palier de 2 niveaux d'intensité ( 1,3, 5, 7...15), puis diminue par palier de 2 niveaux
d'intensité (15, 13, 11, ...1)

P3 Programme 3
La vitesse passe alternativement du niveau d'intensité 2 a 16 et de 16 a 2 par intervalle de 5 secondes.

DONNEES TECHNIQUES
« Modele : CLUB UP AND DOWN
- Référence : 57690

- Consommation : 230V~ 50Hz
+ Puissance : 300W

- Charge max. autorisée : 200kg

ENTRETIEN
« Veillez a éteindre l'interrupteur et a débrancher I'appareil avant I'entretien quotidien.
- N'utilisez pas de formaldéhyde ou autre produit dimprégnation organique pour nettoyer 'appareil.

« Utilisez un chiffon doux et sec plutét qu'un chiffon humide pour nettoyer I'interrupteur électrique et le pourtour de la
plate-forme.

« Une infiltration de produit nettoyant dans I'appareil peut l'endommager.

« Sile cable est endommags, il doit étre remplacé par un cable spécial ou une unité électrique compléte, disponible
auprés du fabricant ou du service clientele.

LANAFORM® garantit par le présent que ce produit sera exempt de tout vice de matériau ou de fabrication pour une
période de deux années a compter de sa date d'achat, a I'exclusion des spécifications suivantes ;

La garantie pour ce produit LANAFORM® ne couvrira pas les dommages causés a la suite de toute utilisation abusive ou
inappropriée, de tout accident, de toute utilisation d'accessoire non autorisé, de toute modification apportée au produit
ou de toute autre circonstance échappant au contréle de LANAFORM®.

LANAFORM® ne peut étre tenue pour responsable de tout type de dommages accessoires ou particuliers.

Dés réception, LANAFORM® réparera ou remplacera, suivant le cas, votre produit.Toute activité dentretien de ce produit,
confiée a toute personne autre que le Centre Service de LANAFORM®, rendra la présente garantie nulle et non avenue.

(/) LANAFORM®



CLUB UP AND DOWN

Gebruiksaanwijzing

Beste klant,

Wij danken u voor uw vertrouwen in LANAFORM en in onze CLUB UP AND DOWN. Lees deze handleiding a.u.b. aandachtig
v66r gebruik, vooral de veiligheidsinstructies om het toestel correct te kunnen gebruiken. Bewaar ook deze handleiding

om ze later zo nodig opnieuw te kunnen inzien. ‘!

ALGEMENE VEILIGHEIDSINSTRUCTIES
+ Buiten het bereik van kinderen en gehandicapten bewaren. Plastic zakken houden een gevaar voor verstikking in.

- Vergewis u ervan dat het toestel in goede staat blijft, en vooraleer het voor de eerste keer te gebruiken, moet u
controleren of het niet beschadigd is. Anders mag u het toestel niet gebruiken en brengt u het terug naar uw verkoper.

+ Dit toestel mag niet in een commerciéle context gebruikt worden.

« De verkoper is niet aansprakelijk voor schade veroorzaakt door een onaangepaste behandeling, noch voor opzettelijke
schade.

- Koppel het toestel nooit los van het net door aan het snoer te trekken.
- Dit massagetoestel is NIET geschikt voor kinderen.
- Spring niet op het platform om het toestel niet te beschadigen.

« Bij zichtbare schade mag u het toestel niet gebruiken. Ontkoppel het van het net en neem contact op met een
technicus. Het toestel zou elektrocutiegevaar kunnen inhouden.

- Probeer nooit de schade zelf te herstellen, maar raadpleeg uw verkoper of de klantendienst.

» Schakel het toestel na elk gebruik uit en trek de stekker uit het stopcontact.

« Schakel het toestel uit en trek de stekker uit het stopcontact vooraleer het schoon te maken.

« Als u het toestel op een tapijt gebruikt, let er dan voor op dat de verluchtingsopeningen niet afgedekt zijn.
- Gebruik het toestel niet op een vloerbekleding van het vinyltype.

« Het wordt aanbevolen om enkele opwarmingsoefeningen te doen vooraleer het toestel te gebruiken.

« Verhoog de snelheid en de duur van de oefeningen geleidelijk.

« Het toestel mag slechts door een enkele persoon tegelijk gebruikt worden.

- Zwangere vrouwen of vrouwen met een spiraaltje mogen het toestel NIET gebruiken.

« Stop onmiddellijk als u zich misselijk voelt of last hebt van duizeligheid. Raadpleeg zo snel mogelijk uw arts als u zich
ziek voelt, als u gewrichtspijnen of andere pijnen hebt, als uw pols abnormaal versnelt of als u een ander abnormaal
symptoom gewaarwordt.

- Als u allang geen sport meer beoefend hebt of als u een probleem hebt aan het hart, met de bloedsomloop of
orthopedisch, raadpleeg dan uw arts vooraleer het toestel te gebruiken.

- Bewaar het toestel droog en uit de buurt van water, en zorg ervoor dat de elektrische onderdelen niet nat worden.
- Maak het toestel schoon met een vochtige vod en een niet-chemisch detergens.

+ Dit toestel mag niet gebruikt worden door kinderen, noch door personen met een fysieke, neurologische of mentale
handicap, personen met gebrek aan ervaring of kennis terzake, tenzij ze het toestel gebruiken onder toezicht en volgens
de instructies van een andere persoon die verantwoordelijk is voor hun veiligheid.

« Zorg ervoor dat de kinderen niet met het toestel spelen.
« Als de elektrische kabel beschadigd is, moet hij - om elk risico te vermijden - vervangen worden door de fabrikant, zijn

technische dienst of een andere vakman.

13



AANDACHT!
- Het is gevaarlijk om het toestel zelf te demonteren.
« Het is gevaarlijk om de handen in de spleet van de plaat te steken.

« Verplaats uw zwaartepunt niet op een kant van de plaat om het toestel niet te beschadigen waardoor het luidruchtiger
zal worden.

VERBODEN

1) Als u lijdt aan een psychisch trauma, gebruik het toestel dan niet.

2) Gebruik het toestel ook niet als u ziek bent.

3) Kinderen mogen het toestel niet gebruiken.

4) Zwangere vrouwen en vrouwen die hun menstruatie hebben, mogen het toestel niet gebruiken.

PRINCIPE EN WERKING:

De in de CLUB UP AND DOWN gebruikte technologie schuilt in een nieuwe vorm van innovatie: ze produceert een
schommelende (oscillerende) beweging. De plaat werkt in 2 dimensies: Omhoog/omlaag - De spieren worden belast
net zoals ze in actie zouden komen tijdens een fysieke activiteit of bij een spiertraining, maar met een veel grotere
doeltreffendheid. Inderdaad, het werk gebeurt in de diepte en niet alleen aan het oppervlak ...

Win tijd en verbeter de resultaten die verkregen worden bij een behandeling met behulp van traditionele oefeningen en
behoed uw lichaam in veel minder tijd dan bij een traditionele activiteit en zonder enig blessurerisico.

De motor werkt in verschillende werkwijzen en met veranderlijke intensiteit om te beantwoorden aan de individuele
doelstellingen (massage, revalidatie, training, vetverbranding, drainage, versterken van de spieren enz.).

DE INVLOEDEN OP HET ORGANISME

- Vermagerings- en lipolyse-effect

« Microscopische spiercontracties bevorderen de productie van warmte van uw organisme. U zult dus calorieén verbruiken
en vet verbranden

- Het stimuleren door oscillatie activeert de bloedsomloop en verhoogt de uitwisseling van zuurstof ter plaatse van de
spierweefsels. Dit draagt bij tot een betere afvoer van de toxines.

- De microscopische contracties veroorzaken ook het «strekspiereffect” op de bovenste lagen van de opperhuid waardoor
de kwaliteit van de huid kan verbeteren.

« Verbetering van de bloedsomloop = ®

L =3
BESCHRIJVING VAN HET TOESTEL ' .
1) Hoofdbedieningspaneel w
2) Handwiel —0
3) Hartslagmeter
4) Veiligheids- en noodstopsleutel @
5; Bovegnste kolom '

T ®
6) Hulpbedieningspaneel
7) Onderste kolom °
8) Platform @0 -
9) Voet O—
0

10) Plaats van de haken

(19 LANAFORM®



Veiligheids- en noodstopsleutel: U hebt deze sleutel nodig om met het toestel te werken. In geval van nood, wanneer
de machine volledig moet uitgeschakeld worden, kunt u de sleutel met behulp van het koordje uittrekken. U kunt ook
deze sleutel verwijderen en op een veilige plaats bewaren om te vermijden dat kinderen met het toestel zouden spelen.

HULPSTUKKEN

() esma1 £ @2mex12

®6 M8.2 ®6M8x35 (s @ 1

() ®@4M6 @§ ® 5 M6x20

MONTAGE-INSTRUCTIES

Controleer tijdens het uitpakken van uw Club Up and Down, of alle onderdelen wel degelijk aanwezig zijn. Controleer

0ok of het toestel geen transportschade heeft geleden.

1) Neem het onderste deel van de kolom vast, plaats het in de buurt van de sokkel en sluit er de elektrische connector op
aan. Steek het uiteinde van de kolom in de voet van het toestel tot de schroefgaten uitgelijnd liggen.

2) Eens de onderdelen aangebracht, kantelt u het toestel opzij om met de 6 schroeven M8x35 de sokkel en de kolom
samen te voegen. Voeg voor elke schroef 1 sluitring M8.1 en een contramoer M8.2 toe.

3) Verbind de bovenste kolom met de onderste. Plaats de onderdelen zo tegenover elkaar dat de twee elektrische
stekkers met elkaar te verbonden kunnen worden. Doe dit, schuif de 2 kolommen in elkaar en bevestig ze met een
schroef M6x20.

4) Neem de onderdelen van de handgreep en sluit de elektrische kabels aan zoals aangegeven op het schema. Gebruik
2 schroeven M6x20 om het onderste deel van de handgreep met de kolom te verbinden. Gebruik bij elke schroef een
sluitring M6.

5) Doe hetzelfde voor de tegenovergestelde kant, en zorg er daarbij voor de twee bovenste delen van de handgreep juist
in elkaar te steken.

6) Assembleer de twee bovenste delen van het handwiel, gebruik daartoe schroef Méx12.

7) Plaats de afdekschalen boven en onder op de plaats waar de twee delen van de handgreep in elkaar geschoven zijn en
klik ze in elkaar.

1\ ) (" ; ™ 4 3
\\L l\'»"", \'\\ - Ti l;l‘—'\?l
) o ]
— |- d I oy
rﬁ; s .5\“% & j‘_ﬁ >
S a e =S L_J
\ TR
M p _
I et
s ‘ - ' Uw toestel is nu
B J a J a ) gebruiksklaar.

15



6) Knop voor het kiezen van de werkwijzen
7) Knop om de amplitude van de trillingen te verkleinen

BEDIENINGSELEMENTEN

Hoofdbedieningspaneel

1) Digitaal scherm

2) Tijdinstelknop

3) Knop om de amplitude van de trillingen te vergroten

4) Aan/Uit-knop

5) Knop om de «Hartslagfrequentie» in werking te stellen
)
)

Hulpbedieningspaneel

8) Digitaal scherm

9) Knop om de amplitude van de trillingen te vergroten
10) Aan/Uit-knop

11) Knop om de amplitude van de trillingen te verkleinen

GEBRUIKSAANWUIZING

1) Sluit het toestel aan en bedien de schakelaar die zich op de achterkant van de sokkel bevindt. Het toestel staat nu in
de paraatstand. Druk op de Aan/Uit-knop. Het toestel begint te werken. Als u een tweede keer drukt, gaat het toestel
weer over naar de paraatstand.

2) Zie het hoofdstuk «Bedieningselementen» om de verschillende functies te gebruiken.
3) Als u het toestel in de modus «staan» wilt gebruiken, ga er dan op staan vooraleer het toestel in werking te stellen.

4) Als u een andere houding verkiest, is het te verkiezen om een andere persoon te vragen u te helpen bij het gebruik van
de bedieningselementen of staand te beginnen en dan van houding te veranderen.

5) Gebruik voor uw gezondheid en uw veiligheid het toestel niet langer dan 20 minuten per behandeling om uw lichaam
niet te veel te belasten.

SCHERMEN

1) Weergave van de hartslag

2) Weergave van de gebruikstijd

3) Weergave handbediening

4) Weergave modus 1

5) Weergave modus 2

6) Weergave modus 3

7) Verklikkerlichtje voor de veiligheidssleutel

8) Weergave van de intensiteit, gaande van 1 tot 16

i3 LANAFORM®



WERKWIJZEN

Handbediening

In deze modus kunt u zelf de intensiteit van de trilbewegingen regelen. U kunt tussen 16 intensiteiten kiezen.
M1 Modus 1

De snelheid neemt langzaam toe (stapsgewijs) en begint bij niveau 1 om te eindigen bij niveau 16. En
vermindert daarna van niveau 16 naar niveau 1.

M2 Modus 2
De snelheid verhoogt stapsgewijs met 2 intensiteitsniveaus (1, 3, 5, 7 ... 15), en vermindert daarna weer
met telkens 2 intensiteitsniveaus (15, 13,11 ... 1) _

P3 Programma 3
De snelheid gaat afwisselend van intensiteitsniveau 2 tot 16 en van 16 tot 2 telkens met 5 seconden tussen.

TECHNISCHE GEGEVENS

« Model: CLUB UP AND DOWN

- Referentie: 57690

« Aansluitwaarden: 230 V- ~ 50Hz
«\lermogen: 300 W

- Max. toegestane belasting: 200 kg

ONDERHOUD

« Zet de schakelaar uit en trek de stekker uit het stopcontact alvorens het dagelijkse onderhoud te doen.

« Gebruik geen formaldehyde of ander organisch impregnatieproduct om het toestel schoon te maken.

- Gebruik liever een zachte, droge vod dan een vochtige doek om de elektrische schakelaar en de omtrek van het platform
te reinigen.

« Als reinigingsmiddel in het toestel insijpelt, kan dit het toestel beschadigen.

- Een beschadigd snoer moet vervangen worden door een speciale kabel of een volledige elektrische eenheid, die
verkrijgbaar is bij de fabrikant of de klantendienst.

LANAFORM® garandeert dit product tegen materiaal- en fabricagefouten gedurende een periode van twee jaar vanaf de
aankoopdatum, met uitsluiting van de volgende beperkingen.

De garantie voor dit LANAFORM®-product zal geen schade dekken die veroorzaakt wordt door een slecht of ongepast
gebruik van het toestel, een ongeluk, het gebruik van niet-toegestane accessoires, alle aanpassingen van het product of
elke andere omstandigheid die aan de controle van LANAFORM® ontsnapt.

LANAFORM kan niet aansprakelijk worden gesteld voor alle bijkomende schade, voor alle gevolgschade of bijzondere
schade.

Bij ontvangst zal LANAFORM® uw product herstellen of vervangen, naargelang het geval. Elk onderhoud van het product,
toevertrouwd aan iemand anders dan het Service Center van LANAFORM zal deze garantie van nul en gener waarde
maken.

17



CLUB UP AND DOWN

Manual de utilizacion

Estimado cliente,

Le agradecemos por su confianza en LANAFORM y nuestro CLUB UP AND DOWN. Antes de la utilizacion, sirvase leer
este manual con atencién, de modo especial las instrucciones de seguridad y para la utilizacién correcta del aparato.
Asimismo, conserve a mano este manual para releerlo en caso de necesidad.

INSTRUCCIONES GENERALES DE SEGURIDAD
- Coloque el embalaje fuera del alcance de los nifios. Las bolsas de plastico implican un riesgo de asfixia.

— - Asegurese de que el aparato permanezca en buen estado y, antes de utilizarlo por la primera vez, asegurese de que no
esté danado. Si lo estuviera, no lo utilice. LIévelo donde su revendedor.

- Este aparato no puede ser utilizado en un contexto comercial.

- El revendedor no es responsable de los dafios ocasionados por un tratamiento no adecuado, ni por dafios intencionales.
« No desconecte nunca el aparato jalando por el cable.

- Este aparato de masaje NO es adecuado para los nifios.

« No salte sobre la plataforma, eso puede dafiar el aparato.

« En caso de dafio visible, no utilice el aparato. Desconéctelo y tome contacto con un técnico. El aparato podria conllevar
un riesgo de electrocutarse.

- No trate nunca de reparar los dafios usted mismo. Consulte su revendedor o el servicio al cliente.

- Cuando se termine su sesion, apague el aparato y desconéctelo.

« Apague el aparato y desconéctelo antes de limpiarlo.

- Sillegara a utilizar el aparato sobre un tapiz, asegdrese de que los orificios de aireacion no lleguen a taparse.
- No utilice el aparato sobre un revestimiento de tipo vinilo.

- Se recomienda hacer algunos ejercicios de precalentamiento antes de utilizar el aparato.

+ Aumente la velocidad y la duracidn de los ejercicios de manera progresiva.

- El aparato no puede ser usado més que por una sola persona a la vez.

- Las mujeres embarazadas o que utilizan un esterilet NO pueden utilizar este aparato.

- Sillegara a sentirse mal, si tuviera vértigos, detenga inmediatamente la utilizacién del aparato. Consulte su médico
sin tardanza si se sintiera enfermo(a), si sintiera dolores a las articulaciones o en otra parte, si su pulso se acelerase de
manera anormal o si sintiera cualquier otro sintoma anormal.

« Sino hubiera practicado deporte después de un largo periodo de tiempo o si tuviera un problema cardiaco, circulatorio u
ortopédico, consulte su médico antes de utilizar este aparato.

- Conserve el aparato en un lugar seco, protegido del agua y cuide que los elementos eléctricos no se humedezcan.
- Limpie el aparato con un trapo himedo y un detergente no quimico.

- Este aparato no puede ser utilizado por nifios, ni por personas que presente una minusvalia fisica, neurolégica o mental;
tampoco por personas sin experiencia o conocimiento en la materia; a menos que estas personas utilicen el aparato bajo
la supervisién y siguiendo las instrucciones de otra persona responsable de su seguridad.

- Procure que los nifios no jueguen con el aparato.

- Si se dafiase el cable eléctrico, éste debe ser reemplazado por el fabricante, su servicio técnico o por cualquier otra
persona calificada, de modo que se evite cualquier riesgo.

(3 LANAFORM®



ATENCION!

« Es peligroso que desmonte usted mismo el aparato.

« Es peligroso meter la mano en el intersticio de la plataforma.

« No desplace su centro de gravedad hacia un costado de la plataforma, para no dafiar el aparato ni hacerlo ruidoso.

PROHIBICIONES

1) Si sufre de un traumatismo psiquico, no utilice el aparato.

2) Si estd enfermo, no utilice el aparato.

3) Los nifios no pueden utilizar el aparato.

4) Las mujeres embarazadas y en periodo de menstruacién no pueden utilizar el aparato.

PRINCIPIO Y FUNCIONAMIENTO _

La tecnologia utilizada en el CLUB UP AND DOWN, consiste en una nueva forma de innovacién: reproduce un movimiento
oscilante. El plato trabaja en 2 dimensiones: Subida-Bajada Los mdsculos se solicitan exactamente como si estuvieran en
accion durante una actividad fisica o de musculacién, pero con una eficiencia mucho mds importante. En efecto, el trabajo
se hace en profundidad y no tan sélo en la superficie ...

Gane tiempo y aumente los resultados obtenidos durante una sesién de ejercicios tradicionales, protegiendo su cuerpo
de cualquier riesgo de herida, en mucho menos tiempo que en el caso de una actividad tradicional y sin ningtn riesgo
de herida. Las diferentes modalidades y la intensidad variable van a guiar el motor segtin un protocolo establecido, con
el objeto de responder a los objetivos de cada uno (masaje, reeducacién, condicion fisica, quema de grasas, drenaje,
tonificacion muscular, etc.)

LOS EFECTOS SOBRE EL ORGANISMO
« Adelgazamiento y efecto lipdlisis

- Las Micro contracciones musculares favorecen la produccién de calor de su organismo. Por consiguiente, gastara calorias
y quemard asi las grasas.

- La estimulacion por oscilacion, activa la circulacién sanguinea y aumenta el intercambio de oxigeno a los niveles de los
tejidos musculares. Contribuyendo asi a una mejor eliminacion de las toxinas.

« Las Micro contracciones provocan al mismo tiempo el efecto « tensor » en las capas superficiales de la epidermis,
permitiendo mejorar la calidad de la piel.

- Mejoramiento de la circulacién sanguinea.

T

3 L E=—3)
DESCRIPCION DEL APARATO K >
1) Panel de mando principal -8
2) Volante
3) Sensor de pulsaciones cardiacas O
4) Llave de sequridad y parada de emergencia
5 — @
6 G
7 5
8) Plataforma
9) Base @
10) Emplazamiento de los ganchos

Columna superior
Panel de mando secundario
Columna inferior

= =0 2 =2 =2 2=

19



Llave de seguridad y parada de emergencia: Este llave permite que el aparato funcione. En caso de emergencia que
necesite una detencién completa de la méquina, usted puede quitar la Ilave jalando de la cuerdecilla. Para evitar que los
nifios jueguen con el aparato, también puede quitar la llave para guardarla en un lugar seguro.

ACCESORIOS
() eem81 4§ @2mex12
®6 V8.2 @6 M8x35 (g @1

() e@4Mé (?§ @® 5 M6x20
INSTRUCCIONES DE MONTAJE

Al'momento de desembalar su Club up and down, verifique que todas las piezas estén bien presentes. Verifique asimismo
que el aparato no haya sufrido ningtin dafio provocado por el transporte.

1) Agarre la columna inferior y coldquela cerca del zocalo y conecte el enchufe eléctrico a dicho zocalo. Introduzca el
extremo de la columna en la base del aparato, hasta que los orificios de tornillo estén correctamente alineados.

2) Una vez que las piezas estén en su lugar, incline el aparato sobre el costado y utilice 6 tornillos M8x35 para ensamblar el
z6calo y la columna. Para cada tornillo afiada 1 arandela MB.1y una contratuerca MB.2.

3) Ensamble la columna superior con la columna inferior. Coloque las piezas una frente a la otra, a fin de conectar las dos
enchufes eléctricos. A continuacién, coloque y encaje los 2 montantes y utilice un tornillo M6x20.

4) Tome las piezas que componen el volante y conecte los cables eléctricos, tal y como se indica en el esquema. Utilice 2
tornillos M6x20 para ensamblar la parte inferior del volante a la columna. Para cada tornillo, afiada una arandela M6.

5) Haga lo mismo con el costado opuesto, teniendo cuidado de encajar correctamente las dos partes superiores del volante.
6) Ensamble las dos partes superiores del volante. Utilice el tornillo M6x12
7) Coloque y encaje la guarnicion por encima de la juntura de las dos piezas del volante.

/ B
(
9
.'a\k;‘ <
\ ¢
J

Su aparato estd listo para funcionar.

)1 )| LANAFORM”



MANDOS

Panel de mando principal

1) Pantalla digital

2) Botdn para regulacion del tiempo

3) Botdn que aumenta la intensidad de los movimientos oscilantes

4) Botén Marcha/Detencidn

5) Botdn de puesta en marcha de la funcion « Frecuencia cardiaca »
6) Botdn de seleccién de las modalidades

7) Botdn que disminuye la intensidad de los movimientos oscilantes

Panel de mando secundario

1) Pantalla digital

2) Botdn que aumenta la intensidad de los movimientos oscilantes
3) Botdn Marcha/Detencion

4) Botdn que disminuye la intensidad de los movimientos oscilantes

MODO DE EMPLEQ

1) Conecte el aparato y accione el interruptor que se encuentra en la parte posterior del zocalo. El aparato estd ahora en
modo de espera. Pulse sobre el boton Marcha/Detencién. El aparato comienza a funcionar. Si pulsa una sequnda vez, el
aparato vuelve al modo en espera.

2) Vaya al capitulo « Mandos » para la utilizacién de las diferentes funciones.
3) Si desea utilizar el aparato en la modalidad “de pie’, péngase encima antes de la puesta en marcha.

4) Si prefiere otra postura, es preferible que le pida a otra persona la ayuda para utilizar los mandos o comience de pie,
luego cambie de postura.

5) Por su salud y su sequridad, no utilice el aparato més de 20 minutos por sesién, con el objeto de no exigirle demasiado
a su cuerpo.

PANTALLAS

1) Visualizacion de las pulsaciones cardiacas
2) Visualizacion del tiempo de trabajo

3
4
5
6
7
8

Visualizacion del modo manual

Visualizacion del modo 1

Visualizacion del modo 2

Visualizacién del modo 3

Indicador de la Ilave de sequridad

Visualizacion del nivel de intensidad que va de 1a 16

= =02 =2 =2 2=

21



MODALIDADES
Modo manual

En este modo puede regular usted mismo el nivel de intensidad de los movimientos oscilantes. Tiene a su disposicién 16
niveles de intensidad.

M1 Modo 1

La velocidad aumenta de manera progresiva (gradualmente) comenzando por el nivel 1 para terminar en el
nivel 16. Posteriormente, disminuye de manera progresiva desde el nivel 16 hasta el nivel 1.

M2 Modo 2

La velocidad aumenta por tramo de 2 niveles de intensidad ( 1, 3, 5, 7...15), después disminuye en 2 niveles
de intensidad (15, 13, 11, ...1)

P3 Programa 3
La velocidad pasa alternativamamente del nivel de intensidad 2 a 16 y de 16 a 2 en intervalo de segundos.

DATOS TECNICOS

« Modelo: CLUB UP AND DOWN
« Referencia: 57690

« Consumo: 230V~ 50Hz

« Potencia: 300W

- (arga max. autorizada: 200kg

MANTENIMIENTO

« Antes de efectuar el mantenimiento diario, apague el interruptor y desconecte el aparato.

« No utilice formaldehido ni otro producto de impregnacién organico para limpiar el aparato.

« Utilice un trapo suave y seco, mds bien que un trapo himedo para limpiar el interruptor eléctrico y el contorno de la
plataforma.

- Una infiltracion de producto de limpieza en el aparato puede dafiarlo.

- Si el cable estuviera dafiado, se debe reemplazar por un cable especial o una unidad eléctrica completa, disponible
donde su fabricante o su servicio al cliente.

LANAFORM® garantiza por la presente que este producto no tiene ningtn defecto de material ni de fabricacién durante
un periodo de dos afios, a partir de la fecha de su compra, con excepcion de las especificaciones siguientes:

La garantia sobre este producto LANAFORM® no cubre los dafios provocados como consecuencia de cualquier utilizacién
abusiva o incorrecta, de un accidente, de la utilizacion de un accesorio no autorizado, de cualquiera modificacion
aportada al producto o de cualquier otra circunstancia que escape al control de LANAFORM®.

LANAFORM no puede ser considerado responsable de cualquier tipo de dafios accesorios o particulares.

A partir de la recepcién, LANAFORM® repararé o reemplazard, seguin venga al caso, su producto. Cualquier actividad de
mantenimiento de este producto que se confie a cualquier persona diferente del Centre Service de LANAFORM®, hard que
a presente garantia se vuelva nula y no ocurrida.

)73 | LANAFORM®



CLUB UP AND DOWN

Bedienungsanleitung

Lieber Kunde,

wir danken Ihnen fiir lhr Vertrauen, das Sie in LANAFORM und unseren CLUB UP AND DOWN setzen. Lesen Sie
dieses Handbuch vor dem Gebrauch — vor allem die Sicherheitsanweisungen — aufmerksam, damit Sie das Gerét
ordnungsgemal3 benutzen. Bewahren Sie dieses Handbuch fiir den eventuellen spateren Gebrauch auf.

ALLGEMEINE SICHERHEITSANWEISUNGEN
- Bewahren Sie die Verpackung auer Reichweite von Kindern auf. Die Kunststoffbeutel stellen ein Erstickungsrisiko dar.

- Halten Sie das Gerat stets in gutem Zustand und priifen Sie vor der ersten Benutzung nach, ob es nicht in irgendeiner
Weise beschddigt ist. Wenn es beschadigt ist, benutzen Sie es bitte nicht, sondern bringen es zu Ihrem Handler zuriick.

- Dieses Gerat darf nicht zu geschéftlichen Zwecken verwendet werden.

« Der Handler ibernimmt keine Haftung fiir Schaden infolge der unsachgemdBen Behandlung des Gerétes und fiir
beabsichtigte Beschddigungen des Gerétes.

« Zum Ausschalten des Gerdtes niemals das Stromkabel aus der Steckdose ziehen.
- Dieses Massagerat ist NICHT fiir Kinder geeignet.
- Springen Sie nicht auf die Plattform. Dies kann das Gerat ndmlich beschadigen.

- Bei sichtbaren Schaden das Gerat nicht weiter benutzen. Nehmen Sie es vom Netz und rufen Sie einen Fachmann. Das
Gerdt kénnte namlich ein Stromschlagrisiko in sich bergen.

- Versuchen Sie nie, selber Schéden zu beheben, sondern ziehen Sie Ihren Handler oder den Kundendienst zu Rate.
+ Nach jedem Gebrauch ist das Gerdt auszuschalten und vom Stromnetz zu nehmen.

+ Das Gerdt vor dem Saubern ausschalten und vom Stromnetz nehmen.

«Wenn Sie das Gerat auf einem Teppich benutzen, achten Sie darauf, dass die Liiftungsschlitze nicht verstopft sind.
« Benutzen Sie das Gerdt nicht auf einem vinylartigen Bodenbelag.

- Es empfiehlt sich, einige Ubungen zum Aufwarmen vor der Benutzung des Gerétes zu machen.

- Steigern Sie allmahlich die Geschwindigkeit und die Dauer der Ubungen.

- Das Gerdt darf nur von einer einzigen Person gleichzeitig benutzt werden.

- Schwangere oder Frauen mit einem Diaphragma diirfen das Gerdt NICHT benutzen.

- Wenn Sie sich unwohl fiihlen oder unter Schwindel leiden, benutzen Sie das Gerat nicht mehr. Wenden Sie sich
unverziiglich an einen Arzt, wenn Sie sich krank fiihlen oder Schmerzen an den Gelenken oder an anderen Kérperstellen
spiiren, Ihr Puls sich anormal beschleunigt oder Sie unter einem anderen ungewdhnlichen Symptom leiden.

- Wenn Sie seit langem keinen Sport mehr getrieben haben oder wenn Sie ein Herzproblem, Kreislauf- oder
orthopddische Probleme haben, ziehen Sie Ihren Arzt vor der Benutzung des Gerates zu Rate.

« Bewahren Sie das Gerét trocken, fernab von Wasser, auf und achten Sie darauf, dass die elektrischen Teile nicht der
Feuchtigkeit ausgesetzt sind.

+ Reinigen Sie das Gerét mit einem feuchten Tuch oder einem nicht chemischen Putzmittel.

- Dieses Gerat darf nicht von Kindern und von Personen mit einer kdrperlichen, neurologischen oder geistigen
Behinderung und nicht von Personen, denen es an Erfahrung oder Kenntnis in der Anwendung des Gerétes fehlt,
benutzt werden, auBer unter der Aufsicht und gemaR den Anweisungen einer anderen Person, die fiir ihre Sicherheit die
Verantwortung iibernommen hat.

« Achten Sie darauf, dass Kinder nicht mit diesem Gerét spielen.

- Wenn das Stromkabel beschddigt ist, muss es vom Hersteller, dessen Kundendienst oder jedem anderen Fachmann
ausgewechselt werden, damit jedwedes Risiko vermieden wird.

23



WICHTIGE HINWEISE:
« Es ist gefahrlich, das Gerat selber zu zerlegen oder zu reparieren.
« Es ist gefahrlich, mit der Hand in den Zwischenraum unter der Plattform zu greifen.

« Verlagern Sie niemals Ihren Schwerpunkt auf eine Seite der Plattform, da dies Schéden am Gerdt hervorruft und das
Gerdt zu ldrmen beginnt.

VERBOTE

1) Wenn Sie unter einem Trauma seelischer Natur leiden, benutzen Sie das Gerat nicht.
2) Wenn Sie krank sind, benutzen Sie das Gerat nicht.

3) Kinder diirfen das Gerat nicht benutzen.

4) Schwangere und Frauen, die die Regel haben, diirfen das Gerdt nicht benutzen.

PRINZIP UND FUNKTIONSWEISE:
Die Technologie, die im Falle des CLUB UP AND DOWN zum Tragen kommt, ist im Grunde eine bisher ungekannte

— ausgelegt. Die Muskeln werden so beansprucht als wiirden sie bei einer krperlichen Tatigkeit oder beim Aufbau

: Neuerung. Sie reproduziert eine Pendelbewegung. Die Plattform ist fiir zwei Richtungen — Heben und Senken

von Muskeln benutzt, aber wesentlich effizienter. Es ist némlich so, dass das Gerat in die Tiefe wirkt, nicht allein an der
Oberfliche... Sie sparen Zeit und verbessern die Ergebnisse, die Sie bei iiblichen kérperlichen Ubungen erzielt hétten. Ihr
Korper wird von Verletzungen geschiitzt. Sie brauchen also weniger Zeit als bei herkémmlichen Aktivitaten und gehen
jedem Verletzungsrisiko aus dem Weg.

Die einzelnen Modi und die variable Intensitét treiben den Motor gemaR einem festen Protokoll an, so dass den
Zielsetzungen jedes Benutzers entsprochen wird (Massage, Rehabilitation, Konditionsaufbau, Verbrennung von Fetten,
Dranage, Muskeltraining usw.).

WIRKUNGEN AUF DEN ORGANISMUS

- Gewichtsverlust und Fettaufldsung

+ Die Mikrokontraktionen der Muskeln begiinstigen die Erzeugung von Wérme in lhrem Kdrper. Sie verbrauchen auf diese
Weise Kalorien und verbrennen iiberschiissige Fette.

« Die Stimulierung durch das Pendeln regt den Blutkreislauf an und erhdhte den Austausch von Sauerstoff in den
Muskelgeweben. Sie tragt auf diese Weise zu einer besseren Abfuhr der Toxine bei.

- Die Mikrokontraktionen erzeugen auBerdem einen,,spannenden Effekt” auf die oberen Schichten der Epidermis und
steigern auf diese Weise die Qualitdt der Haut.

+ Auch der Blutkreislauf wird verbessert. —Q
L E=—3)

BESCHREIBUNG DES GERATES < -

1) Tafel mit den wichtigsten Bedienungen |

2) Lenker —0®

3) Messfiihler fiir die Herzschlagmessung

4) Sicherheitsschliissel und Not-Aus-Vorrichtung @

5) Oberer Saulenabschnitt —®

6) Tafel mit den Sekundérbedienungen

7) Unterer Saulenabschnitt
8) Plattform or——
9) Sockel O—
10) Anordnung der Verschlusshaken

)19 LANAFORM®



Sicherheitsschliissel und Not-Aus-Vorrichtung: Mit diesem Schliissel aktivieren Sie das Gerét. In einem Notfall, bei
dem die Maschine ganz still stehen muss, ziehen Sie den Schliissel an seiner Kordel einfach ab. Sie kdnnen ebenfalls den
Schliissel nach dem Abziehen an einem sicheren Ort aufbewahren, damit Kinder nicht mit dem Gerét spielen.

ZUBEHORTEILE

() eem81  § e@2mex12

®6 V8.2 @6 M8x35 @) @ 1
/"\I ,[5
0 ®@4Mse @§ @5 M6x20

ANWEISUNGEN FUR DEN ZUSAMMENBAU

Beim Auspacken Ihres Club Up and Down priifen Sie bitte nach, ob auch alle Teile vorhanden sind. Untersuchen Sie
ebenfalls das Gerat auf irgendwelche Transportschaden.

1) Bringen Sie den unteren Saulenabschnitt in der Nahe des Sockels an und schlieRen Sie das Stromkabel an den Sockel
an. Fiihren Sie das Sdulenende in die Basis des Gerates ein, bis die Schraubendffnungen perfekt fluchten.

2) Wenn alle Teile an ihrem Platz sind, neigen Sie das Gerét und bauen mit den 6 M8x35-Schrauben Sockel und Sdule
zusammen. Legen Sie unter jede Schraube eine M8.1-Beilage und eine M8.2-Kontermutter.

3) Bauen Sie den oberen und unteren Saulenabschnitt zusammen. Bringen Sie ein Teil gegeniiber dem anderen an, um
die beiden Stromkabel anzuschlieBen. Danach stecken Sie die beiden Streben zusammen und schrauben Sie mit einer
M6x20-Schraube fest.

4) Nehmen Sie die Bestandteile des Lenkers und schlieBen Sie die Stromkabel entsprechend der Abbildung an. Mit zwei
M6x20-Schrauben montieren Sie den unteren Lenkerteil an die Saule. Legen Sie unter jede Schraube eine M6-Beilage.

5) Gehen Sie gleichermaBen auf der anderen Seite vor. Die beiden oberen Teile des Lenkers miissen perfekt aufgesteckt
werden.

6) Bauen Sie die beiden oberen Teile des Lenkers zusammen. Dazu eine M6x12-Schraube verwenden.
7) Den Besatz an der Verbindungsstelle der beiden Teile des Lenkers anbringen.

\ ) a"\:—k\ L 1/
1
pu=l - =R -
L —

L

Ihr Gerat ist jetzt einsatzbereit.




—@ 9) Taster zur Steigerung der Stérke der Hub- und Senkbewegungen

BEDIENUNGEN
Tafel mit den Hauptbedienungen
1) Digitalbildschirm
2) Taster fiir die Einstellung der Zeit
3) Taster zur Erhdhung der Stérke der Hub- und Senkbewegungen
4) Taster zum Ein- und Ausschalten
5) Taster fiir die Aktivierung der Funktion ,Herzfrequenz”
6) Taster fiir die Wahl der Funktionen
)

7) Taster fiir die Senkung der Stérke der Hub- und
Senkbewegungen

Tafel mit den sekund@ren Bedienungen
8) Digitalschirm

10) Taster zum Ein- und Ausschalten

11) Taster zur Senkung der Stérke der Hub- und Senkbewegungen
der Plattform

GEBRAUCHSANWEISUNG

1) SchlieBen Sie das Gerdt an und bettigen Sie den Schalter auf der Riickseite des Sockels. Das Gert ist nun in
Bereitschaft. Driicken Sie auf den Ein-Aus-Taster. Das Gerdt beginnt zu arbeiten. Wenn Sie den Taster nochmals
driicken, versetzt es sich in den Bereitschaftszustand.

2) Die verschiedenen Funktionen werden im Kapitel ,Bedienungen” eingehend erldutert.
3) Wenn Sie sich fiir den Geratebetriebsmodus ,stehend” entscheiden, stellen Sie sich vor dem Einschalten auf das Gerit.

4) Wenn Sie eine andere Haltung vorziehen, sollten Sie vorzugsweise einen Zweiten um Unterstiitzung bei der
Verwendung der Bedienungen bitten oder aufrecht beginnen und danach (nach den entsprechenden Bedienungen)
die gewiinschte Haltung einnehmen.

5) Aus Gesundheits- und Sicherheitsgriinden sollten Sie das Gerat pro Sitzung nicht langer als 20 Minuten benutzen. Sie
kdnnten Ihren Kdrper ansonsten zu sehr beanspruchen.

ANZEIGEN

1) Anzeige des Pulses/Herzschlags

2) Anzeige der Betriebszeit des Gerétes
3) Anzeige des Modus ,manuel
4) Anzeige des Modus 1

5) Anzeige des Modus 2

6) Anzeige des Modus 3

7) Kontrollanzeige fiir den Sicherheitsschliissel

8) Anzeige der jeweiligen Bewegungsstarke von 1 bis 16

|u

)13 | LANAFORM®



MODI
Manueller Modus

In diesem Modus kénnen Sie selber die jeweilige Stérke der Hub- und Senkbewegungen einstellen. Es stehen lhnen
insgesamt 16 verschiedene Stérken zur Verfiigung.

M1 Modus 1

Die Geschwindigkeit steigt allmahlich an (Stufe um Stufe). Sie geht dabei von der Stufe 1 aus und endet bei
der Stufe 16. Sie féllt anschlieBend allméhlich von Stufe 16 auf Stufe 1.

M2 Modus 2
Die Geschwindigkeit nimmt um je zwei Stérkestufen zu ( 1, 3, 5, 7...15) und wieder um je zwei Starkestufen
ab (15,13,11,..7).

P3 Programm 3
Die Geschwindigkeit geht alle fiinf Sekunden von Stufe 2 bis16 und von 16 bis 2.

TECHNISCHE ANGABEN

« Modell: CLUB UP AND DOWN

- Artikelnr.: 57690

- Stromaufnahme: 230V~ 50Hz

« Leistung: 300W

- Hochstzuldssige Belastung: 200 kg

UNTERHALT

Vor der taglichen Wartung den Schalter auf Aus stellen und das Gerat vom Stromnetz nehmen.

Benutzen Sie kein Formaldehyd oder anderes organisches Impragnierprodukt fiir die Sduberung des Gerdtes.

Nehmen Sie ein sanftes, trockenes statt eines feuchten Tuches fiir die Sduberung des Stromschalters und des Umfangs der
Schwingplattform.

Beim Einsickern eines Reinigungsmittels ins Gerdt kann das Gerdt Schaden nehmen.

Ist das Kabel beschadigt, muss es ausgewechselt werden, entweder durch ein spezielles Kabel oder ein komplettes
elektrisches Teil, das beim Hersteller oder Kundendienst erhaltlich ist.

LANAFORM® garantiert hiermit, dass dieser Artikel frei von irgendwelchen Material- oder Konstruktionsfehlern ist, fiir
einen Zeitraum von zwei Jahren ab dem Kaufdatum, unter Ausschluss folgender Situationen:

Die Garantie fiir diesen LANAFORM®-Artikel gilt nicht fiir Schaden, die infolge der Zweckentfremdung oder des anormalen
Gebrauchs desselben, eines Unfalls, jedweder nicht genehmigter Nebenverwendung, jedweder Verénderung des Artikels
oder jedweden Umstandes, der sich der gebiihrenden Kontrolle von LANAFORM® entzieht, entstanden sind.

LANAFORM® kann nicht fiir Nebenschéden oder spezielle Schdden zur Verantwortung gezogen werden.

Nach Eingang des schadhaften unter Garantie stehenden Artikels wird der Artikel von LANAFORM® je nach Fall repariert
oder ersetzt. Durch jeden Unterhalt dieses Artikels seitens einer anderen Person als der Kundendienstzentrale von
LANAFORM® wird die vorliegende Garantie hinfallig und nichtig.

27



CLUB UP AND DOWN

Manuale d’uso
Gentile Cliente,

La ringraziamo per la fiducia riposta in LANAFORM e nell'apparecchio CLUB UP AND DOWN. Leggere attentamente il
seguente manuale prima di utilizzare I'apparecchio, in particolare le precauzioni di sicurezza essenziali. Conservare il
manuale per poterlo consultare in futuro.

PRECAUZIONI GENERALI DI SICUREZZA

- Conservare Iimballaggio fuori dalla portata dei bambini. | sacchetti di plastica possono provocare il rischio di
soffocamento.

- Verificare il buono stato dell’apparecchio e, prima di utilizzarlo per la prima volta, controllare che non vi siano danni. Se
& danneggiato, non utilizzarlo ma riportarlo al rivenditore.

« Questo apparecchio non pud essere utilizzato in ambito commerciale.

« I rivenditore non & responsabile di eventuali danni provocati da una manipolazione inadeguata dell'apparecchio o di
eventuali danni intenzionali.

- Non scollegare I'apparecchio dalla presa tirando il cavo.
« Questo apparecchio di massaggio NON & adatto ai bambini.

_@ - Non saltare sulla pedana per non danneggiare I'apparecchio.

« In caso di danni visibili, cessare di utilizzare 'apparecchio. Scollegarlo dall'alimentazione e contattare un tecnico.
L'apparecchio potrebbe comportare un rischio di elettrocuzione.

« Non riparare mai |'apparecchio da soli. Contattare il rivenditore o I'assistenza clienti.

- Dopo ogni utilizzo, spegnere I'apparecchio e staccare la spina.

- Spegnere |'apparecchio e scollegarlo prima di pulirlo.

- Se si utilizza I'apparecchio su un tappeto, non ostruire le aperture di ventilazione.

- Non utilizzare I'apparecchio su un rivestimento in vinile.

« Si consiglia di fare qualche esercizio di riscaldamento prima di utilizzare I'apparecchio.

- Aumentare progressivamente la velocita degli esercizi.

« L'apparecchio puo essere utilizzato da una sola persona alla volta.

- Le donne in stato di gravidanza o che portano una spirale NON possono utilizzare I'apparecchio.

- Se si avverte una sensazione di malessere o vertigini, cessare immediatamente di utilizzare I'apparecchio. Consultare
il proprio medico in caso di problemi, se si avvertono dolori alle articolazioni o altrove, se il polso & piu accelerato del
normale o se si avvertono sintomi strani.

« In caso di carenza di pratica sportiva regolare o di problemi cardiaci, circolatori od ortopedici, consultare il proprio
medico prima di utilizzare apparecchio.

- Conservare I'apparecchio in un luogo asciutto e riparato, verificando che i componenti elettrici non siano bagnati.
« Pulire 'apparecchio con un panno umido e un detergente non chimico.

« Non far utilizzare questo apparecchio a bambini o disabili fisici o psichici, 0 a persone senza esperienza o conoscenze
adeguate, a meno che non lo utilizzino sotto stretta sorveglianza di un‘altra persona responsabile della loro sicurezza,
seguendo le istruzioni di quest'ultimo.

- Non lasciar giocare i bambini con I'apparecchio.

- Seil cavo di alimentazione é danneggiato, deve essere sostituito dal produttore, dal servizio di assistenza tecnica o da
personale qualificato per evitare qualsiasi tipo di rischio.

)13 | LANAFORM®



ATTENZIONE!
« E pericolo smontare I'apparecchio da soli.
« E pericoloso manipolare l'intercapedine della pedana.

« Non spostare il proprio baricentro su un lato della pedana per non danneggiare I'apparecchio, poiché in tal caso tendera
a fare rumore.

DIVIETI

1) I soggetti che soffrono di traumi psichici non devono utilizzare 'apparecchio.

2) | soggetti malati non devono utilizzare I'apparecchio.

3) I bambini non possono utilizzare 'apparecchio.

4) Le donne in gravidanza o durante il ciclo mestruale non possono utilizzare I'apparecchio.

PRINCIPIO DI FUNZIONAMENTO:

La tecnologia utilizzata nel CLUB UP AND DOWN & del tutto innovativa: riproduce infatti un movimento oscillante. La
pedana funziona in 2 dimensioni: salita e discesa. | muscoli vengono sollecitati come se svolgessero attivita fisica o
esercizi idonei ai muscoli stessi, ma con in pit un rendimento molto elevato. Infatti, il lavoro viene fatto in profondita e
non solamente in superficie...

Guadagnate tempo e migliorate i risultati ottenuti rispetto alle sedute tradizionali, evitando inoltre il rischio di farvi male.

Le diverse modalita e la possibilita di variare I'intensita consentono a ciascuno di sequire un determinato programma in ®_
funzione delle esigenze individuali (massaggio, riabilitazione, rimessa in forma, brucia i grassi, drenaggio, tonificazione
muscolare, ecc.).

EFFETTI SULL'ORGANISMO
- Effetto dimagrante e lipolisi

« Le micro-contrazioni muscolari favoriscono la produzione di calore da parte dell‘organismo. Consumerete piu calorie e
brucerete meglio i grassi.

- La stimolazione mediante oscillazione attiva la circolazione del sangue e aumenta lo scambio di ossigeno a livello dei
tessuti muscolari. Contribuisce inoltre ad una migliore eliminazione delle tossine.

« Le micro-contrazioni provocano anche l'effetto “tensore” sugli strati superficiali dell'epidermide, migliorando la qualita
della pelle.

- Miglioramento della circolazione del sangue.

DESCRIZIONE DELL'APPARECCHIO

0

L “Ee——(3)

0
1) Quadro comandi principale T
2) Manubrio l

—0

. ®

k———®

)

)

3) Sensore di pulsazioni cardiache

4) Chiave di sicurezza e arresto di emergenza
5) Colonna superiore

6) Quadro comandi secondario

7) Colonna inferiore

8) Pedana

9) Base

10) Posizioni dei ganci

(D —
O—

29



Chiave di sicurezza e arresto di emergenza: Questa chiave permette il funzionamento dell'apparecchio. In situazioni
di emergenza che richiedono I'arresto completo dell'apparecchio, & possibile togliere la chiave tirando la cordicella.

La chiave puo essere tolta e riposta in un posto sicuro, per evitare che i bambini possano prenderla e giocare con
I'apparecchio.

ACCESSORI

() eeme1 £ @2mex12

®6 M8.2 ®6M8x35 (5 @1

() ®@4M6 (§ ® 5 M6x20

ISTRUZIONI DI MONTAGGIO

Al'momento di disimballare I'apparecchio Club up and down, verificare che tutti i componenti siano presenti. Verificare

_® inoltre che I'apparecchio non abbia subito danni durante il trasporto.

1) Afferrare la colonna inferiore e collocarla accanto alla base, quindi collegare la spina di alimentazione alla base. Inserire
I'estremita della colonna nella base dell'apparecchio fino ad allineamento corretto dei fori delle viti.

2) Con i pezzi in posizione, inclinare I'apparecchio di lato e utilizzare 6 viti M8x35 per montare la base e la colonna. Per
ogni vite, aggiungere una rondella M8.1 e un controdado M8.2.

3) Collegare la colonna superiore a quella inferiore. Mettere i pezzi uno di fronte allaltro per collegare le due spine di
alimentazione. Incastrare quindi i due montanti utilizzando una vite M6x20.

4) Prendere i pezzi che compongono il manubrio e collegare i cavi elettrici, come indicato nello schema. Utilizzare due viti
M6x20 per montare la parte inferiore del manubrio alla colonna. Per ogni vite, aggiungere una rondella Mé6.

5) Procedere allo stesso modo sul lato opposto, facendo attenzione a incastrare correttamente i due pezzi superiori del
volante.

6) Montare le due parti superiori del manubrio, utilizzando la vite M6x12.
7) Collocare la guarnizione sopra la zona di giunzione dei due pezzi del volante.

W\ ~ ~ 7 ~\ ' ™
‘ﬂ\]— 1"-"'!\'\_ _,/ ~ lj‘_'%
=) T wreees |
s | - d I oy
fﬁ; — .5\“% & ﬂ‘_ﬁ -
J a A J ?Eﬂj'\ L_J
( \ T
M ¢ ~
o
; ]
s | ) Q s 7

L'apparecchio & adesso pronto per I'uso.

1) LANAFORM®



COMANDI

Quadro comandi principale
1) Schermo digitale

2) Tasto di regolazione della durata

3) Tasto per aumentare l'intensita dei movimenti oscillanti
4) Tasto acceso/spento

5) Tasto di attivazione della funzione “frequenza cardiaca”
6) Tasto di selezione della modalita

7) Tasto per diminuire l'intensita dei movimenti oscillanti

Quadro comandi secondario

8) Schermo digitale

9) Tasto per aumentare l'intensita dei movimenti oscillanti
10) Tasto acceso/spento

11) Tasto per diminuire l'intensita dei movimenti oscillanti

MODALITA D'USO ®_
1) Collegare I'apparecchio e premere l'interruttore che si trova dietro la base. Lapparecchio & in standby. Premere il tasto

acceso/spento. Lapparecchio inizia a funzionare. Premendo il tasto una seconda volta, apparecchio si rimette in

standby.

2) Consultare la sezione “Comandi” per vedere come utilizzare le varie funzioni.
3) Se si desidera utilizzare I'apparecchio “in piedi’, posizionarsi davanti all'apparecchio prima di metterlo in funzione.

4) Per mettersi in un‘altra posizione, farsi aiutare da un’altra persona per utilizzare i comandi, oppure iniziare in piedi e
cambiare successivamente posizione.

5) Per motivi di salute e sicurezza, non utilizzare 'apparecchio piu di 20 minuti per seduta al fine di non sollecitare
eccessivamente 'organismo.

SCHERMI

1) Visualizzazione pulsazioni cardiache
2) Visualizzazione durata esercizio
3) Visualizzazione modalita manuale
4) Visualizzazione modalita 1
5) Visualizzazione modalita 2
6) Visualizzazione modalita 3
7) Spia di indicazione chiave di sicurezza

8) Visualizzazione livello di intensita: da 1a 16

31



MODALITA
Modalita manuale
In questa modalita, & possibile regolare il livello di intensita dei movimenti oscillanti. Sono disponibili 16 livelli di

intensita.
M1 Modalita 1
La velocita aumenta progressivamente per gradi, a partire dal livello 1 fino al livello 16. Quindi diminuisce
sempre progressivamente dal livello 16 al livello 1.
M2 Modalita 2
La velocita aumenta di 2 livelli alla volta ( 1, 3, 5, 7...15), quindi diminuisce sempre di 2 livelli alla volta (15,
13,11,..1).
P3 Programma 3
La velocita passa alternativamente dal livello di intensita 2 al 16 e dal 16 al 2 ad intervalli di 5 secondi.
DATI TECNICI

« Modello: CLUB UP AND DOWN
- Codice: 57690

« Consumo: 230V~ 50Hz

- Potenza: 300W

: « Peso massimo consentito: 200kg

PULIZIA E MANUTENZIONE

Spegnere l'interruttore e scollegare I'apparecchio prima della pulizia giornaliera.

Non utilizzare formaldeide o altri prodotti organici per pulire apparecchio.

Utilizzare un panno morbido e asciutto (non umido) per pulire linterruttore elettrico e il perimetro della pedana.
Se un prodotto di pulizia penetra allinterno dell’apparecchio, questo si puo danneggiare.

Se il cavo di alimentazione & danneggiato, deve essere sostituito con un cavo speciale o un sistema simile disponibile
presso il fornitore o il servizio post-vendita.

LANAFORM® garantisce che il presente prodotto non avra difetti dei materiali né di fabbricazione per un periodo di due
anni a decorrere dalla data di acquisto, ad eccezione di quanto riportato qui sotto.

La garanzia di questo prodotto LANAFORM® non copre i danni causati da uso errato o abuso, incidente, utilizzo di
accessori non autorizzati, modifiche apportate al prodotto, né altre situazioni di qualsiasi genere che sfuggano al controllo
di LANAFORM®.

LANAFORM® non sara ritenuta responsabile di eventuali danni incidentali, consequenziali né speciali.

Su presentazione dello scontrino, LANAFORM® riparera o sostituira il prodotto, a seconda del caso, e lo rispedira senza
alcun onere per I'utente. La garanzia é valida soltanto per il tramite di un centro di assistenza LANAFORM®. Eventuali
riparazioni effettuate sul prodotto da personale non appartenente al centro di assistenza LANAFORM® renderanno nulla
la presente garanzia.

3| LANAFORM®



CLUB UP AND DOWN

WHCTpYKUMA no npumeHeHuio
[lloporoii knuneHT,

Mbi 6naropapum Bac 3a goepue k LANAFORM 1 Hawemy CLUB UP AND DOWN. Moxanyiicta, npounTaiite BHUMATENbHO
BKMaZblLL Nepes UCMoNb30BaHNeM, B 0C06EHHOCTI MHCTPYKLMI No 6e30nacHoCTy, uTobbl MCNoNb30BaTh annapar
npaBunbHo. Moxanylicta, coxpaHuTe TakxKe 3T0T BKMaiblLL, UTo0bl MepeunTbiBaTh €ro o Mepe Hafo6HOCTH.

OBLLIUE MEPbI BE3OMACHOCTU
- XpaHuTe ynakoBky Bany ot eteit. CyMKi 1 IaKeTbi U3 MNACTMACChI ONAcHbI PUCKOM YAyLIEHUS.

- Y6eauTecs, uTo annapat B XopoLuem COCTOAHIM 1, IPEX e YeM ero UCMoNb30BaTh Bnepeble, yoeauTech, uto OH He
noBpexaeH. Ecin oH noBpexzeH, He ucnonb3yiite ero. Bepxute ero auctpubyTopy.

- 310T annapat He MoXeT ObITb UCNONb30BaH B KOMMepYecKunx Lenax.

« MCTpNBYTOP He HeCeT OTBETCTBEHHOCTY 3a YiLiepd, Bbi3BaHHbIN HECOOTBETCTBYIOLIMM 0BpaLLEHIIEM, HIA 3a
yMbILLNIEHHbIT YLuep6.

- He BbIknioyaliTe HUKOrAA annapar, Aeprad 3a kabenb.
- 370T annapat maccaxa HE npegHasHaueH ana peteit
- He npbiraiite Ha nnatdopme, 370 MOXeT NOBPeAUTL anmapat

« B cnyuae Bugumoro nospexzeHus, He ncnonib3yiite 6onbLue annapar. BbikntouuTe ero n BAXUTECH C TEXHUKOM.
Annapat npescTaBaAeT pUCK NopakeHuA INeKTPUYECKUM TOKOM.

+ He nbiTaiitech HUKOrAa NCpaBuTb NONOMKY CAMOCTOATENbHO. (BAXMTECH C AMCTPUOYTOPOM MK 06paTuTECh B CEPBIAC.

« lMocne kaxporo ynotpebneHus, BbIKKoYaiiTe annapar v OTKNI0YaiATe ero oT CeTy.

« lepen uncTKoii annapara 0643aTenbHo BbIKMKYaliTe ero. _

« Ecnn Bl ncnonb3yete annapar Ha koBpe, no3abotutech 0 Tom, 4Tobbl 0TBEPCTIA NPOBETPUBAHIA He BbINK CKPbITHI.

» He ncnonb3yiite annapata Ha BUHWOBbIX MOKPBITHUAX.

+ PekomeHayem ciienaTb HeCKONbKO CeaHCOB HarpeBaHuA Npubopa, npex/e Yem BnepBble UCMONb30BaTb annapar.

« YBennumBaiite CkopocTb M NPOJOMKMUTENBHOCTD CEAHCOB NMPOrPECCUBHO.

« Annapat moxeT 6bITb MCM0ABb30BaH TONbKO OAHMM YeN0BEKOM 3a CeaHC.

- bepemeHHble eHLMHbI uan Hocawme cnupanb HE moryT ncnonb3oBatb annapar.

« Ecnu Boi uyBcTBYyeTe ceb nnoxo, ecnu Bbl UCbITbIBAETE FONOBOKPYKeHIe, He3aMeaauTeNbHO NpeKpaTuTe
UCnonb3oBaHue annaparta. lIpokoHcynbTUpYitTech y Bawwero Bpaya, ecv noyyBCTBOBANM HEAOMOTaHWe, 3aTPyAHEHNA
B apTUKYNALNM, €CNIA BaLL MYAbC yYacTUNCA, Wi e ecnn Bbl nouyBcTBOBanu Apyrie HeHOpManbHble CUMNTOMBI.

« Ecnn Bbl yke faBHO He 3aHUManich CnopTom, unu eciv Bbl MmeeTe cepieuHyto unu optonesuyeckyio npobnemy,
NPOKOHCYNbTIPYeTeCh Y Balwero Bpaua, npex e yem 1Cnonb3oBatb annapar.

- XpaHuTe annapar B Cyxom MecTe, BAAN 0T BOZbI 1 3360TbTeCh 0 TOM, UT06bI 3NeKTprYeckIe nemMeHTbI Bbinn He
BNAXHbIMY.

« YucTute annapat BRaxHoi TPANOYKOI 1 HEXMMIUYECKUM MOIOLLM CPeACTBOM.

+ JTOT annapart He MOXeT ObITb UCMONb30BAH HY AETbMU, HI NIOALMI C PU3NYECKIMU, HEBPONOTUYECKUMU AN
YMCTBEHHbIMY HEA0CTaTKaMI1, MO0 MOXHO UCMOAb30BaTb, N0 KpaliHeil Mepe, NoA HabnioAeHNeM 0TBETCTBEHHOrO 3a
HUX 1La.

« Cnegure, uto6bl €TV He vrpany npubopom.

« Ecv noBpesxzieH Kabenb, OH oMKeH ObITb 3aMeHeH NPpou3BoaNTENeM, 60 KBANMOUUMPOBAHHBIM TMLOM, BO
u36exaue Mio6oro pucka.

33



BHUMAHUE!
+ OnacHo pa36upartb annapar CamoCTOATENbHO.
- OnacHo 6paTbcA pyKoii 3a y3Kue 0TBEPCTBYA MIATHOPMbI.

« He nepemeLuaiiTe WenTp Balueii rpaBuTaun Ha kpait inatdopmbl, utobbl He NOBPEAUTb annapar it He CAenaTh ero
LIYMHbIM.

3ANPELLEHO UCMONb30BATb ANMMAPAT:

1) Ecnm BbI CTpaiaeTe NCUXUYECKIM PacCTPOICTBOM.

2) Ecnn Bol 60nbHbI.

3) [leTin He MoryT MCNONb30BaTh annapar.

4) bepeMeHHbIe XKEHLLMHBI 11 XKEHLUMHBI B NEPUOJ MEHCTPYaLMii He MOTYT MCMOb30BaTb annapat

MPUHLMUNbI OYHKLIUOHNPOBAHUA

TexHonorus, ncnonb3osanHas 8 CLUB UP AND DOWN, ocHoBbIBaeTcA Ha HOBOIA opme HOBOBBE/EHNA: OHA
BOCMPOU3BOANT KauatoLueeca figukeHue. Mnatdopma pabotaet B 2 pexumax: Mogbem-CHuxerue. Mbiwwubl pabotaiot
TOYHO, KaK et 6bl OHIN COBEpLUANY JelCTBYE ABUMKEHNUA NI BLINONHANMA YNIPAXKHEHUA HA Pa3BUTUE MYCKYNaTypbl, HO C
HaMHoro 6onee BbICOKOI 3¢deKTUBHOCTbI0. [lelicTBUTeNbHO, paboTa uaeT B ry6uHe, a He TONbKO Ha MOBEPXHOCTIL..

Bblurpaiite Bpems 1 yBeubTe pesysbTarbl, M0Sy4aemble B TEUEHUE BbIMONHEHUA TPAANLMOHHDIX YTIPAXKHEHMI,
MPeAoXpaHuB Bawue Tesno oT 110600 pucka NOPAHNTLCA U 32 KOPOTKMIA CPOK.

PasnuuHble pexxumbl 1 nepeMeHHas MHTEHCUBHOCTb 3aCTaBAT ABUraTeNb paboTathb COrNacHo 3aJaHHOMY peximy, Ans
TOr0, YT06bl AOCTUTHYTb LIEIM KaXA0r0 pexima (Maccax, npueseHie B Gopmy, B30afpuBaHie, CKUraHue Xupos,
APEHaX, MblLLIEYHOE TOHU3NPOBAHNE, I T.4. )

BO3JIEACTBMUE HA OPTAHU3M
+ JQGeKT noxyAaHUA u nunonmsa

« MuKpo-CoKpaLLeHus MbiluL 6naronpuaTCTBYioT NPOM3BOACTBY Tenna Bawwmum opraHu3mom. Bbl pacxopyeTte, Takum
06pa3om, Kanopun 1 CKUraeTe xup.

« CTumynauma Konebanuem, akTUBIU3NPYeT KPOBOOOPALLEHIE 11 YBENMYMBAET KNCIIOPOAHDIA 06MEH MbILLEYHbIX TKaHei.
370 CM0OCOBCTBYET NyyLLeMy BbIBeAEHINH0 TOKCMHOB.

. MI/IKpO-COKpaLI.I,EHI/IH NPOBOLMPYIOT TaKXe pe3ynbTaT «<HanpAMEHHHOCTU « Ha BHELLHWX CNI0AX KOXHOT0 NOKPOBa,
N03B0/1AA NOBbICUTb COCTOAHNE KOXN.

0
. )
OMUCAHWE NPUBOPA K 5
1) Lutok 0CHOBHbIX MOKa3ateneit ;

2) NopyyeHb (Pynb) w
3) latuwk cepaeuHbIX nynbcawuii — 0
4) Kntoy 6€30MacHOCTY 11 SKCTPEHHOTO BbIKNIOYEHMA

5) BepxHas cToiika . ®
6) LLluTok BTOpUUHBIX NoKa3aTeneit T ®
7) HmxHas cToiika .

8) Mnatdopma

9) OcHoBaHue @
10) MecTo AnA npuKpenneHna Kploukos

.79 LANAFORM®



Kniou 6e30nacHoCTi 1 SKCTPEHHOTO BbIKMIOYEHUA: ITOT KU N03BOAAET (YHKLMOHUPOBATb Bawwemy annapary.

B Ciyyae Kpal7IHEl7I HeobX0AMMOCTI, ANA NONHOIA 0CTAHOBKYM MALLMHBI, Bbl MOXeTe CHATb KNtou, NOTAHYB 3a LHYPOK. Bl

MOXETe BbIHUMATb 1 XPaHUTb 3TOT KIioY B ONPEESIEHHOM MecTe, BO M30exaHue Cyuaes, Koraa AT MOryT UrpaTh
annaparom.

KOMMNEKTYIOLLWE MPUHAJTEXHOCTU

() esmM81 & @2Mm6x12

®6 M8.2 ®6M8x35 (s @ 1

) @4Mé @@ @5 M6%20

UHCTPYKLIWA NO CBOPKE

Mpu pacnakoske Bawero Club up and down, npoBepbTe, uTo6bl Bee AeTany 6binu B Hanuuum. MpoBepbTe TakxKe, uTo
annapar He Monyuun noBPeXaeHMUA BO BPeMsA [J0CTaBKM.

1) Bo3bMuTe BHELLHIOK KONOHHY 1 YCTAHOBUTE KOHEL, BKIIOUMTE YCTPOICTBO B CETb. BKpYTUTE KOHEL YCTPOiicTBa B
6a3y, TaK, uTo0bI LUYPYMbl XOPOLLIO CEM B OTBEPCTBUA.

2) Korna Bce yacTin 6ynyT Ha MecTax, HaKNOHUTe YCTPOICTBO B CTOPOHY, UCMoNb3ys 6 Wwypynos M8x35 , ana cbopkm
LIOKOAA M KONIOHHbI. I KaxAoro Wwypyna, 2o6aBbTe Kpyriyto npoknasky M8.1wm npoknagky ¢ npoemom M3.2

3) CobepuTe BepXHIOK 1 HIDKHIOK KOJIOHHBI. BCTaBbTe 0ZIHY YacTb B Apyryt, UTo0bl CMOYb NOACOEANHNTD 2 LWHYPa B
ceTb. Bcrasbre obe yacTy, ncnonb3ya 1 wypyn M6x20.

4) Bo3bmuTe cocTaBHble pyna/mopyunsa 1 BKlounTe kabena B eTb, kak ykasaHo Ha cxeme. Mcnonb3yiiTe 2 Wwypyna
M6x20 ana cOOpKY HUXKHelt YacTh pyns K KoNoHHe. [ina Kaxaoro Wwypyna, 2o6aBbTe npoknaaky M6.

5) Mpopenaiite Toxe camoe , 0CTOPOXHO BCTaBbTe 00e BepXHie YacTu pynA.
6) CobepuTe 06e BepxHue yactu pynd. cnonb3yiite BUHT M6x12
7)YcTaHoBuTe rapHUTYPY CBEPX 2 COEAMHEHMIA pynA.

SN r ; N e N
‘ L e
. £ i1
P A -
) @\ <) =R a
-l
pg= =t
M # o~
5-00:_“
.
s | ) Q s 7

Baw npu6op rotos K pabore.

35



KOMAHJbI

LLiuTOK 0CHOBHBIX KOMaHp,

1) 3KpaH umudpoBoil

2) Kxonka perynupoBKm BpemeHn

3) KHonka yBennueHuA NHTEHCUBHOCTY 11 NOKAUNBAIOLLIX
NBUKEHWIA

4) Knonka XOI\OCTAHOBKA

5) KHonka 3anycka ¢pyHkumum «CepheyHad yactota»

6) KHonka Bbibopa pexumos

7) KHomKa CHMKEHIA HTEHCUBHOCTI NOKAUMBAIOLLX ABUKEHMIA.

LLiutok BTOpMUYHOro KOHTpONA
8) JKkpaH undpoBoii

9) KHonka yBenunyeHna MHTeHCMBHOCTY NOKAYMUBAOLLMX
NBUDKEHNIA

10) Kronka XOJ\OCTAHOBKA

11) KHonka ymeHbLUeHNA NHTEHCMBHOCTI NOKAUNBAIOLLMX
NBUXKEHWIA

MPABWIA UCNOJIb30BAHUA

1. BkntouwnTe annapar v 3anyctute pyounbHIK, KOTOPbIA HAXOAUTCA M03ad1 LOKoAA. Annapar Tenepb rotos K pa6ore.
HaxmuTe Ha kronky Xon / OctaHoBKa. Annapar HaunHaeT QYHKLMOHMPOBaTh. ECAIN Bbl NpUKOCHeTeCh BTOPOI pas, OH

nepecTaHeT GYHKLMOHNPOBATD.

2. Moxanyiicta, nepeiiguTe K paspeny «<KomMaHabl «, 4To0bl UCMONb30BATL Pa3NUYHbIE DYHKLMM.
3. B Bbi enaete cnonb3oBaTb annapar «CTos «, BCTaHbTE Ha HEro CBEpXY MPEXie YeM ero 3anycTutb.
4. Ecw Bbl NpeAnoynTaeTe Apyryio no3y, enatenbHo NonpocuTb Koro-Hubyas Bam nomoub B nepexnioueHni Komag,

160 HauHuTe (T0A, 3aTéM CMEHUB N03Y.

5. Papu Bawero 310poBbA 1 6e30MacHOCTY He NcNonb3yiiTe Npu6op Gonee 20 MUHYT, YT0BbI HE CIMLUKOM PaCcTPACTI

Bawe Teno.

JKPAHbI

1) Oto6pakeHue cepaeyHoOro nynbca

2) OTobpakeHue NpoaoMKUTENbHOCT PaboTb

3) OTo6pakeHue pyuHoro pexuma

4) OtobpaxeHue pexuma 1

5) OTob6paxeHue pexuma 2

6) OTobpakeHme pexxima 3

7) MNokazatenb Kntoua 6e30nacHoCTH

8) OTobpaxeHue ypoBHA UHTEHCUBHOCTM OT T A0 16

k13 | LANAFORM”




PEXUMbI
Pyunoit pexum
B 310M pexume Bbl camin MoxeTe 0TperynupoBaTh ypoBeHb MHTEHCUBHOCTI NOKAUMBAIOLLX ABUXeHMIA. B Bawwem
pacnopsxeHi 16 ypoBHeli HTEHCUBHOCTI
M1 Pexum 1
CKopocTb yBenMunBaeTCA NOCTENEHHO (LUar 3a LWarom), HaYnHaACh Ha YpoBHe 111 3aKaHYMBAACH Ha ypoBHe 16.
3aTem COKpaLLAACb HUCXOAALLM 06pa3oM - OT ypoBHA 16 [0 ypoBHA 1.
M2 Pexum 2
CkopocTb yBenuunBaeTcA CTyneHyato Yepes ABa ypoBHa (1,3, 5,7 15), 3aTem coKpaLLaeTca Takxe CTyneHyaTo
yepe3 fiBa ypoBHa (15,13,11,...T)
P3 Mporpamma 3
CKopocTb NepexoauT nonepemeHHo 0T YPOBHA MHTEHCMBHOCTI OT 2 40 16 11 0T 16 10 2 C MHTEPBANOM B 5 CEKyHA.

TEXHUYMECKUE XAPAKTEPUCTUKK

+ Mogenb UB UP AND DOWN

* CCbInKa : 57690

« Hanpsxenwue : 230V~ 50Hz

« MowHocTb : 300W

« MakcumanbHo sonyctimas Harpy3ka : 200kg

yXxoa 3A NPUBOPOM

« Noxanyiicra, BblkNtouaiiTe py6UnbHIK U OTKNIOYaiiTe annapat o exeHeBHOro 0CMOTpa-yXxofa.

« He ncnonb3yiite dopmanbzerugbl U apyrue NposyKTbl 0praHnueckoil MPOMMUTKI C OTHECTOKNM COCTaBOM ANA YUCTKM
annapara.

« Micnonb3yiiTe MATKYH 11 CyXyto TPAMOUKY, @ He BNAXHYI0 ANA YNCTKN INEKTPIUYECKOro pyounbHIKa 1 NOBEPXHOCTH
nnat$popmbl.

« [IpOHIKHOBEHMe YNCTALLEro CPeACTBA B annapaT MOXeT ero NoBpeAnTh.

- Ecn kaBenb noBpexeH, OH /10MKeH ObiTb 3aMeHeH crelyanbHbIM Kabenem oT NPOU3BOANTENA W CMELMANbHOTO
cepBuca.

YCNOBWA TAPAHTUN

LANAFORM® rapaTipyet 310 u3aenue ot nto6bix AepeKTOB MaTepuanos v U3roToBAeHUA Ha NepUoz B iBa roAia, HaunHas ¢
JaTbl NOKYMKY 32 UCKNIOYEHUEM HIKEU3N0XKEHHbIX YTOUHEHMIA.

[apaHTua Ha 310 u3penve LANAFORM® He noKpbiBaeT yLuep6a, BbI3BaHHOTO M06bIM Upe3mMepHbIM, HeNpaBUbHbIM
1CN0Ab30BaHMEM, HECUaCTHBIM CTyyaem, Gukcaumeli noboro HepaspelLeHHOro akceccyapa, BHeCeHeM U3MeHeHHil B
u3nenue i Nioboro Apyroro YCnoBuA, Kakoil Obl HAaTypbl 0HO HY BbINO, He MoaAatoLeroca Kontponto LANAFORM®.
LANAFORM® oTKnoHAeT 0TBETCTBEHHOCTb 3a Nto60i TN N06OYHOTO MoCne0BaTeNbHOro K 0coboro ywepba. Bee
MojpasymeBaeMble rapaHTUi FOAHOCTY U3AeNIA OrpaHinyeHbl NeproAoM B ABA roAa, HAUMHAA C AaTbl MOKYMKK.

Mo nonyuenuto, LANAFORM® nounnut nam, B cnyyae Heobxopmmoctu, 3ameHuT Baww npubop v otnpasut ero Bam, onnatus
nouToBble Pacxopbl. [apaHTuA MoxeT ObITb 3aAeiicTBOBaHa Tonbko yepe3 Centre Service oT LANAFORM®. Jlio6ble paborbl
110 YXOZy 3a 3TUM M3enneMm, BbINONHeHHbIe No6oii Apyroil cnyx6oii, a He Cepauc-Lientpom ot LANAFORM® anHynupytot
HaCTOALLYI0 FapaHTuio.

37









LANAFORM®

SA LANAFORM NV

Zoning de Cornémont
rue de la Légende. 55
B-4141 LOUVEIGNE
BELGIUM

Tél. +32 (0)4 360 92 91
Fax +32 (0)4 360 97 23

info@lanaform.com
www.lanaform.com

2037bG!





